
Exam style questions

Q1
A small glass holds 85 cm3 of liquid.


A bottle holds 2000 cm3 of liquid.

a) Work out the number of 85 cm3 glasses which can be filled from the 

bottle.









  (3 marks)

b)
Work out the amount of liquid left in the bottle when the glasses have been filled.









  (3 marks)

Q2
A cylindrical can has a radius of 6 cm.

a) Calculate the area of the circular

end of the can.


(2 marks)


The capacity of the can is 2000 cm3
b) Calculate the height of the can.

Give your answer correct to 1 

decimal place.


(3 marks)

Q3
In this question take( as 3.14 or use the ( button on your calculator.

A metal block is a prism with a cylindrical hole through it.


The cross-section of the prism is a trapezium.

The lengths of the parallel sides of the trapezium are 5 cm and 8 cm respectively.  They are 4 cm apart.

The length of the prism is 12 cm.








The radius of the cylindrical hole is 

1 cm.

The cylindrical hole is perpendicular to the base of the prism.

Each cubic centimetre of the metal from which the block is made weighs 5 g.

How much does the metal block weigh?  Give your answer to an appropriate degree of accuracy.








  (6 marks) 

